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3angaua 22.1
//(9/x+y) dxdy, y=x*>+22x+8, y=4x+8.
D

22.1

3anaua 22.2
//y/:c dedy, y=2>+3z+4, y=>5r+4.
D

22.1

3angaua 22.3
//(9/x+y) dxdy, y=x*>+4x+9, y=52+09.
D

22.1

3apaua 22.4

//xy dxdy, y=2*>+3x+10, y=5x+ 10.
D

22.1

3amaua 22.5
//(4x+y) dxdy, y=a2*>+4x+3, y=>5x+3.
D

22.1

3anaua 22.6
//y/x dedy, y=2>+4x+2, y=6x+2.
D

22.1

3agaua 22.7

//xy drdy, y=x*>+3x+6, y=4r+6.

D
22.1

3agaua 22.8
//(8:102 +y) dedy, y=2*>+2x+7, y=4z+7.
D

22.1

3agaua 22.9
//(8/x—y) drdy, y=2>+6x+6, y=8x+6.
D

22.1

3apgaua 22.10

//(7y + z) dxdy,
D
22.1

y=2a’>+5x+5 y="Tr+5.

3agaua 22.11
//y/:c dedy, y=2>+Tx+8, y=9x+S8.
D

22.1

3agaua 22.12

//(4:6 +y) dzdy,
D
22.1

y=a2*+4x+3, y=>5r+3.

3amauya 22.13
//(4y+x) dedy, y=a2>+4x+4, y=>5z+4.
D

22.1

3apaua 22.14

//(2:6 +y) dzdy,
D
22.1

y=a>+6x+2, y=8r+2.

Sapmaua 22.15
//(7y+:c) dedy, y=a>+5x+3, y="Tz+3.
D

22.1

3angaua 22.16
//y/:c dedy, y=2>+6x+3, y="Tw+3.
D

22.1

Sagaua 22.17
//y/:c dedy, y=2x>+3z+4, y=4r+4.
D

22.1

3angaua 22.18
//y/:c dedy, y=2*>+3x+5, y=>5x+5.
D

22.1

3angaua 22.19
//(4y+x) dxdy, y=a2*>+6x+5, y="Tw+5.
D

22.1

3angaua 22.20

//(495 +vy) dxdy,
D
22.1

y=a2>+Tr+3, y=9z+3.




3angaua 22.21
//(93:2 +vy) dedy, y=x*+5x+7, y=06x+T7.
D

22.1

3apaua 22.22

//(4:c+y) drdy, y=a*>+b5x+3, y="Tr+3.
D

22.1

3anaua 22.23
//y/x dxdy, y=x*+4x+10, y = 5z + 10.
D

22.1

3anaua 22.24
//(S/x—y) dedy, y=ax?>+6x+7, y=8x+T7.
D

22.1

3agaua 22.25
//(7/x —y) dedy, y=x*+4x+6, y=6x+6.
D

22.1

3agaua 22.26

//(4x+y) drdy, y=ax>+6x+3, y=28x+3.
D

22.1

3agaua 22.27
//(4x+y) dxdy, y=a2>+6x+3, y=_8x+3.
D

22.1

3agaua 22.28

//(4x+y) drdy, y=a>+4x+3, y=>5x+3.
D

22.1

3agaua 22.29
//(7y+:c) dedy, y=a2>+Tor+2, y=9z+2.
D

22.1

3agaua 22.30
//(10/3: +y) dedy, y=2’+5x+9, y=Tr+9.
D

22.1

3agaua 22.31
//(8/3: —y) dzdy, y=2*+4r+6, y=6x+6.
D

22.1

3agaua 22.32
//(10/3: +y) dedy, y=2’+4x+9, y=>5z+9.
D

22.1
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33.467
14.000
6.400
20.800
1.233
11.333
0.692
26.933
-2.133
109.600
27.333
1.233
4.350
15.467
90.933
2.625
2.625
16.000
5.683
20.800
2.100
18.133
5.792
-3.467
-1.467
19.467
19.467
1.233
100.267
40.800
0.533

6.900
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